BRI O e i Verb i
Subject-Verb Agreement T8 Subject 97 number 8 person 4% O] o S
3% form T2 4T | B2 Subject-Verb Agreement F4fre number S p:r;%@qg |
I, FKRE® Subject @7 number ST person ARET Fl 2T Verb a3 w1 ts. @ He has guts,
@=: I am/You are/He is a fool. 58 We/they are fools.; I/We/they/ have g[l; 3“; BCS, 1U (G) 16-17,
1. ‘Subject-Verb Agreement’ refers to - o
a) person only b) number, person and gence Ans:c
. ‘ I e :
¢) number and person d) number only : r subject @z
e @3B singular subject @G singular verb aTd ?F;ﬂ fli ;;tﬂeg::::‘se e T
i 9t | Present 1nde
T g (g I, 3, Rew 1 @afo 1) ot Fo | b & singular T3 |
Q3 MY s I es T | (T noun Wpluralmw‘ﬁ@mwve

c<: The Sundarbans is a mangrove forest. T afb TAENH T |

213, NU (afreg) 13-14]
2. The big room — air-conditioned. (W?WF%"‘?I\')I\W fafare) [JnU (A) 1

Ans:a
a) is b) are ¢) should d) do 55 163 0506

3. T)he headmaster — to speak to you. (& e WWWWWW) [DU ( P
a) wants b) is wanting  ¢) was wanting d) has wanting BT i

4. This book — to my uncle. (3 S BIBT/T) o | Feos
5) belonging b) belongs ¢) was b?longlng d) is belonging s g o e

5 Monir — Yashim because she is kind to hlm ' o

. é) is liking b) has liked ¢) was liking  d) likes -

%@, like, belong, want, sec, hear 351 verb €3 continuous tense XF 1 |

m Mars (F7FR) gl &tz 7 o2 singular verb &% ¥ | (WF: Mars 'is next plan_et to
Earth. Mars is known as/called the Red Planet. Mars has two moons, one is called Deimos
d the other is called Phoboes. Mars takes longer to revolve on its axis than the Earth.

26111 Mars — a planet in our solar system. (¥eeiR R WIS CIFEHIted Q5 &%) [JaU D 09-10]
. @are b) is ¢) was d) will be Apah
2157 el ey @iz verb & present indefinite tense 9 T W4 verb 5 is ==, was 77|
m g T, T2 A, T A, GO W, SRASA A1 (19T plural XeTs singular verb
arzet 0@ | e Gulliver’s Travels has always been very popular with both adults and children.
Star Wars was created by a highly imaginative writer. The United States is a major influence

in the United Nations. The United States consists of 50 states and the District of Columbia..

The United Nations has replaced f'or. the League of Nations. The United Nations was set up
to settle conflicts peacefully. The United Nations is now a force to be reckoned with

wfews: The Olympic Games A wod plural verh A '
| : T rE g3 oo :
The Olympics take place every four singular verb &% | crr:

The Olympic Games were ¥ret _ are held every four years.

. 5 S has an Oﬁv . 3
a) gives i l{ew Meaning of culture. ; icial mascot.
bh]tu 1 b) give ¢) offer D howi [JnU (B-AE) 09-10]
ral Studies (o farmer) d) showing "

G
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The U nited State
8' 1

, [ E—
s _(_)f America - a rﬂich country, (T&ag aafs ¢ ™) [HSTU (E) 14-15]

: ited States — d)
. The UnE esbj ‘1' big Navy. (W aafl 7y cMaifed sie) [CU (G, H) 09-10]
a) has have 0) is di ius &) were Ans:a

The United States (¥ 7orall) @B cve it w1z @ verb singular 267 |
area TR S is @R ‘A" 5 has e 7 wlT Qe is @ DTS has T
10. Gulliver’s Travels — wonderful to read.(tfrsiza @ #f orors frwmea awen) (RU A, &1 15-16]
«The Arabian Nights’ (be) my favourite book. (star 7@t @ form a2) [ erste® fA-33]
The Arabian Nights — still a great favourite to many people. (DU (4 #wr®) 19-20]
The Arabian Nights — still a great favourite. [26™BCS, DU (D) 06-07, BU (B-AE) 14-15,
U (C) 10-11, CU (By) 12-13, RU (A-Reerrg) 15-16, PUST (B) 16-17, i STt AT TR AATE-35]
a) has b) are C) is d) were Ans:c
Arabian Nights (ST¥F 7w ), Gulliver's Travels (shffreies @ ) Tz 46 @b 92 T
% verb B singular T W is TR (AT W) | o o7 0 Sy T <A SO forw > AR

11. I-the 9™ Jetter of the English alphabet. (I 2 3 5% af)  [RU (rmsfas) 09-10]
a) is b) are ¢) am d) will be Ans:a

[ = = IR letter, vowel, symbol IR [ &3 =1 is/verb+s/es THI €.8. I is a pronoun.

Iis a vowel. T is the first person singular number. I stands for 1 (one) in the Roman system.

m plural subject =S plural verb &1 % | plural subject 4tFq s @ oz (I,
<e, e 1 Gt ) e 0 1 plural verb & Y T s A es TF A | f¥g noun & plural
form %2 @& 7% plural noun ¢r<te singular =18 plural verb - % fegafb camer TS TS|
Teeth are covered with a hard substance called enamel. Teeth have a hard surface layer called
enamel. My teeth are very sensitive to cold food. Aircraft today use complex avionic systems.
What do mice live on? What criteria are used for assessing a student's ability?

The fruit are small and round. Fish are abundant in the lake. Fish struggle for survival when
the water level drops in the lake. Deer are naturally timid creatures. Only true deer have
antlers. Sheep were grazing in the fields. Bacteria grow in profusion in the warm, wet soil.
Bacteria are becoming resistant to antibiotics. The bacteria are spread by physical contact.

12. These grapes — sour. (4% S 0F) [DU (B) 0607, RU (E, fes) 14-15)
a) tasting b) are tasting ~ ¢€) tastes d) taste Ans:d

These grapes 205 plural subject Feare verb 6 2 | AEETS taste 9 continuous tense T = |

13. —there any nursing schools — Chittagong? [DU (B) 11-12]
a)Is, at b) Are, on ¢) Was, in d) Are, in Ans:d

any nursing schools 2tz plural subject ©I2 are I 4R Chittagong Z0% *=d ©1% @3 7€ in TR

14. The memoranda — not important. (WS e ) [RU (rarsfism) 09-10]
a) is b) has ¢) have d) are Ans:d
memoranda Z8z memorandum < plural | R verb 6 plural T

1S. Where — all the boys —? (77 (2Tl CFIA ficacm?) [DU (B) 11-12, JKKNIU (¥) 16-17]
B has, gone b) have, gone ¢) did, went  d) does, go Ansb

16, Those — the type I like. (@afer ST ARTAT W?W) 4 [RU (E, @rg) 15-16]
a) isn’t b) aren’t ¢) won’t d) don’t Ans-b
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I T R ST

WW noun &% 71 St (two parts) 4 et aryrere plural verl;lmr}ﬁ‘ll;' Ol v
singular determiner + pair of JgR e singular verb i Thcse/T 05‘;) o
noun + plural verb We3t, A/The/This + pair of + plural noun + smgula'l‘ i h §
The pants are in the drawer, A/The pair of pants is in the drawer. The pllerfr ;f‘se Oar} the tab,
A/The pair of pliers is on the table. These/The socks are too Smal.l e pd lil;)beOCks
is too small for me. The/These scissors are dull/blunt. The/This pair of scissors is dull/blun; d
17. The pair of scissors — dull. (F6% cstst/ fofrs 4 ¢12) [1U (BBA) 15.1q
A pair of pants — in the drawer. (G 0 @@f 01T i s

l‘a];

a) have been b) is ¢) arc g has [DU (B)Azn::b
18. - pair of socks — too small for me. (BSMRSTU (E) 17 115]
— pair of shoes — too tight for Shanta. . 8
a) This, is b) These, are  ¢) These,is  d) This, are Ans:a

m Noun, Pronoun We3t, Noun equivalent eIl fog? @IeE ACEA Subject R;ﬂ:mlw
Adjective IR AT Subject ZH 7| A TS Adjective AFCT Here/There &9 WT
TS TR | adjective + singular verb + singular subject; adjective + plural verb + plural S'Ubject’
Blessed is he who gets a good wife. Blessed are the poor/the pious/tl}e meek. Uneasy lies the
head that wears a crown. Inevitable are the decrees of God. Deafening were the screams of

the wounded. Gone are those days when we used to go fishing.

19. Sweet — the uses of adversity. (757 eAETS! T47)
[CU I 13-14, B1 15-16, féret waeiicars sieeidt forset eltat@t (o7)-35, T RASICI CAFBIE TAC03-39]

a) is b) are ¢) has d) have Ans:b
20. Loud - the cries of the victim. [DU (D) 97-98]
a) was b) were ¢) raised d) rang 7 ~ Ansb

m ‘erg’ wtd One and a half + plural noun + plural verb
w24, A/An (singular noun) and a half + singular verb
One and a half hours are allowed for the exam. An hour and a half is allowed for the exam.
One and a half years have passed since I last saw her. A year and a half has passed since
I last saw her.  f#& One and a half lemons was enough.- MEU, P K De Sarkar]
g, @ fFga AAfEatl/aa® f8 AT One and a half + plural noun + singular verb ¥ |
One and a half cups is enough sugar. One and a half miles s a long way.
21. Choose the correct sentence. [ TG V?rYTWW] [RU (Law) 05-06, Gt <mes wﬁma%]
a) One and a half hour is a long tilpe. b) One and a half hours is a long tir;le
¢) One and a half hour are a long time.  d) One and half hour is a long time. Ansib

If, If only, I wish 47 4% subject @7 nump IR \
; ’ €r 8 pers
were @ | If | were in your shoes, (T 1% copar ol Jvtson M & be ﬁmﬁﬂfﬁﬁ

22, IfI—aking! " o) I wish it were true. CRE R
' » [34 BCS, et wasiomcas syt A2
?2 f i h, I s ) were d) shall b ?01
3. — rich, I'would travel around (he world. (sify @Wﬁ; Ans:c
' QY IS
a) am h) was LU (%) 07-08, s IR qreate ey af%mi‘rﬁ AEBI-20]
24. TwishI—alawver/a cri €) were d) have b g
" Lwish T g TR, (O R e gy (e o
| —AKIng, b [NSI-a51 tfes st szt sifavrere-34]
a) was b) am B . [TUH 17-18 ifroospr . s
_MASTER } c) is B were wﬁwmwﬁwwm;]
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m one or two R one or more + plural noun J=F subject T plural verb

one OF WO = a few) Thfire are one or two apparent discrepancies petween the tWO repO(;’t'S-
[Ther® are 00€ OF two typing errors in the report. There are onc of two companies intereste mn
One or more cars

our roducts- One or two students from our department have won prizes.
ere parked in front of the house each day. One or more people were killed in

m one of & 7 plural noun @3k singular verb JwT| ¥ One of his pafe
One of my friends lives in London. One of their daughters has just got married.

pgoneint plural noun ¥ I singular plural < plural verb LS A |

One in three €ars break/breaks down in the first year. One in five people in the country are
cJassed as poor. Apparently one in ten people/one person in ten has problems with reading.
One in five hours is/are spent socializing. One in seven accidents is caused by sleepy drivers.
One in every three marriages ends in divorce. One in five products was found to be defective.

One in siX 1S eligible. One in three people globally do not have access to safe drinking water.

| andﬁTﬁT’i@Wnounﬂﬁiﬁﬂﬁmm@ﬂwmwmverbﬁ:‘pluralmf
He and I were playing. (G S Sifi ciafieet) Are your father and mother at home?(cer w13
<ffors sT?) You and he are birds of the same feather. (2 =< &1 g3 Torad @F) [BUET 10-11]

25. 'Sumi and Bokul — friends when I studied in high school. [CU (A2) 14-15]
: Ans:d

a) are b) is c) was d) were

26. Mithila and Jarin —not — to each other for two years due to a misunderstanding.
(W@W@ﬁwmwﬁmm@wwwmﬁ) [JnU (C) 14-15]
a) are, spoken  b) are, speaking ¢) has, spoken d) have, spoken Ans:d

27. Here — the note book and the report that I promised you last week.
[DU (B-Elective English) 08-09, CU (E) 06-07, (D) 12-13]

the accident.
nts is blind-

a) is b) are ) was d) has been ) have been Ans:b
28. Coffee and tea — served in the evening. [RU E2 18-19]
a) was b) were ¢) have d) had Ans:b

and W& I 9IS noun o e e A GTT S/ i sieer awa verb B
singular T | T AL A & B = C za w<ie 96 noun & T e g =3 verb B singular T |
@: Bread @@ butter 31 jelly SEMT 70 < <A & i3 verb 5 plural 2o | g = Jrega T
wmat bread @@ Cd butter 3 jelly i/ 2% w12 verb © singular 2| SRRt At oqed T
Rice and curry/vegetables is my favourite dish. The horse and carriage (= CA1gr *ifY) is at the
door. The horse and trap/pony and trap (= (@ CICH 51if%) has been waiting (for) a long time.
The new bed and breakfast opens this week. The colour and style is a matter of personal taste.
Truth and honesty is the best policy. Honour and glory is his reward. A good man and useful
citizen has passed away. Breaking and entering is against the law. Loading and unloading

ships is fatiguing work. Drinking and driving is dangerous. Drinking and driving costs lives.
The rise and fall of the tide is due to lunar influence. dfee: Time and tide wait for none.

©@, High School English Grammar-Wren & Martin @ Time and tide waits for no man. Tl R |

29. The bed and breakfast — charming. (--- FCTLHS f2eT) [BSMRSTU (G) 15-16]
a) are b) were c) was d) have been Ans:c
bed and brf.aakfast“iCﬁ‘iljﬂT'J‘?TT'C@'Q’“T'WQ‘U“TsI G AT A I TR AT 990 TAN/ATSA |
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30. The poet and novelist — come. AT

Fereton )
I el TR v
My friend and benefactor — come. (SIS 7% 8 ) [NSTU (D) ]

d) 4.,

a) have l;) has c) have been  d) has been ¥ g

31 i?;'ead and butter — a popular weekend breakfast. [Cou g, i
Bread and butter — my favourable food. - [JU (2foap, 09.]0]

a) is b) are ¢) have been  d) were %5

- a
m uncountable noun HYRIS singular verb &% 3 | (F: The news is not yet ofﬁcial, ;
Mankind is at stake now. (Wawife @<a 7ewGriy) Mankind has always been obsessed by powe;

32. Tl news — apace. (T ASIGE ST 1) [Frareer Sz m“’ﬁ?ﬁﬁ_“}‘
a) run b) runs ¢) running d) ran Angy
33. No news — good news. (It <77 (12 NS ST 44) | [InU (D) 9.1,
a) is b) are ¢) was d) were Angy

Rule: BRSO TR SRS 2T g @y w7 A€ The 07 G- verb f3 singulart;r,’
W,%WW@@WWWWWWWTM 0T @32 verb 5 plural =7

The Headmaster and Chairman was present at the last meeting.
The Headmaster and the Chairman were present at the last meeting.

34.  The Headmaster and Secretary — present at the last meeting. [T -30]
a) is b) was ¢) have d) were Ans:b
35. The Headmaster and the Principal - present in the last meeting. [svow firmss fam-ss]
a) was b) were ¢) had been d) have been Ans:b
36. The great scholar and poet — dead. [BSMRSTU F 18-19]
The poet and novelist — dead. [JnU (C) 09-10]
a) is b) been ¢) are d) has been Ans:a

m Ethics, politics, economics, mathematics, statistics, physics, athletics, acoustics,
hysterics @9 3 subject/academic discipline (*t97 fawm) @z 75y TR ® singular verb &z 3|
=€ 9t € determiner (my, his, her, their, Sajal’s (name’s), no, the 1) At G T
plura] verb 27 | 9t A R GG T et A I Foge eaféiey, wet qamy |

Politics is the business of his life, (Araifez o G 31%); Politics is popular at this universitv
His politics are not practical. g IS (= mmﬁﬁmﬁ) AT 777

Ethics deals with moral principles, The ethics of Journalism are much debated.

There are no ethics in politics, AeHIfeTe I Hfs % | [ G f%vn%@‘bﬂtj

Economics has only recently been recognised as a scientific study. ‘RESEARCH’ 4

The economics of the project are Very encouraging, ewgfoe witafew sgfe T SRR |

37. Physics — a difficult subject, (11 Sfeoteicam wferenra woimaba-sv]
Physics/Forestry/Economics/Mathemal‘ics — my f;

! ] avourite subject.
(140 A& oo o, fof W53, CU (C1) 14-15, JKKNIU (%) 16-17, Tor-umy wifwfe-23)

a) are b) will be ¢) be d) is Ans:d
38.  His mathematics — weak. [JU (1) 09-10]
a) is b) are ¢) have d) none Ans:b

GG A practical English Grammar A J Thomson & A V Martinet 9% 2.Nouns 27 7«17 g3g WZ |
T His mathematics wrat wrg siiféfioas T IR A | At we: e MfAfew vt ger |
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ﬂmﬁtudy of moral duties, principles & values. [COU B 09-10]
- pare by is ¢)arcabout (@ deal Ans:b

¥ and TR TF R I TSR singular noun ax ey st Each, Every 31 No qreet verb
@ singular 7w | e.g. Each boy and each girl has a pen. Each day and each hour brings its duty.
'Evel’y Jeaf and every ﬂOVi’Cl' proclaims the glory of Allah/God. Every flower and every leaf
has stripped off the tree. Every star and every planet is the handiwork of Allah/God.

pach day and cach hour reminds us of our short life. No relative and no friend cares for me.
o, forr R STSIRT noun A ety sjd Every a5aga sata8 s071 |

Eyery man, woman and child was killed/lost, Every man, woman and child is to be educated.
Eyery man, woman and child is now aware of the terrible consequences of the habit of smoking.

1

40. Each boy and cach girl — given a prize yesterday. [BSMRSTU (F) 18-19]
a) 1S b) was ¢) arc d) were Ans:b
41. Every man, woman and child on the island — the effects of the fuel shortage.
a) has suffered D) suffer ¢) have suffered dya & ¢ [BSMRSTU F 15-16]Ans:a
42. Each boy and each girl (dress) with a new dress. [RU (m#f2) 07-08]
a) was dressed  b) were dressed C) dresses d) have dressed Ans:a
dress €3 passive voice @ preposition ‘by’ 7 37 ‘with’ 901 | ©I% AT passive 2T |
43. The correct tense is- [TU (D) 11-12]
a) No boy and no girl perform well b) No boy and no girl performs well

¢) No boy and no girl have performed well d) No boy and no girl are performed well :b
(XS The + adjective Rt @ Wt plural common noun ¥ % «¥ #(7 plural verb o7
The poor live from hand to mouth. (it f @it e <) The wise do not talk much. (=T
= %=1 == 71) The poor are born to suffer. (S1F31 38 (S 419 G2 TMH)

In all ages, the weak are oppressed by the strong. (FRHIE/FEe! FE==1 A= 71 TSIBITS ZH)
The old feel the cold more than the young. The old are not always wiser than the young.
The unemployed are losing hope. The rich plan for tomorrow, the poor for today.

44. The cautious — not always cowards. [Free I A IRT (PReRER)-3e]
a) is b) was c) are d) were Ans:c
45. The virtuous (be) always happy.(«fiftw= 72 7) [Medical 05-06, RU 07-08, HSTU C 14-15]
The virtuous (be) blessed (@), ( €ififcear 1) [RU 03-04]
a) have been b) are ) is d) none of these Ans:b
46. The poor — much in winter. [s 2@ férma fiqait (2)-3¢, BADC 9% o o 3feei-23]
a) suffer b) suffers ¢) suffering d) suffered Ans:a

m with, along with, together with, as well as, accompanied with/by, in addition to, and
not, including, excluding, but, except @l I& @sIfd4< noun/pronoun &3 CFT@ *ET I ST noun/
Pronoun =it verb za | wdie, @9 noun/pronoun & singular 26T verb % singular I @3 &¥w
floun/pronoun & plural ze#r verb fo plural 24 1 Mrs Rokeya along with her daughters was there.
He as wel) as his brothers is very intelligent. His brothers as well as he are very intelligent.
41, The man along with her neighbours — working for the welfare of the people.[PSC-16]

The headmaster along with his colleagues — coming here today. [ssox firss fiame (3)-38]

a) have b) is ¢) were d) are Ans:b
MASTER 453
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48. ‘Karim as well as Rahim — praise.  [arfie sz fires (574)-33, drdfi® Wﬁ%
The young entrepreneur as well as her sales team members — praise.  [DUC 181
a) deserve b) deserves ¢) has deserved d) deserving Angy,
deserve (fwrs)- @a/@sq& 26wt | continuous tense 4@ deserve 9T I (R |

49. Ram as well as Rahim — there. [fafes TarrrT WW%]
a) were b) was ¢) have d) has Ang;}
50. My parents as well as I — present there. [ormlfer e wfiweT WW.»]
a) was b) am ¢) were d) will Ang:c
51. The father with his seven daughters — left the house. [>\‘9“’Tf;fWﬁ’<m.;3]
a) have b) are ¢) has d) was Ans;c

52. The principal along with his students — planting trees for two hours.
[sewn ers® faad-3», NSI 7 S ATy

a) have been b) has been c)is d) are Ans:b
53. Lima along with her friends — to school every day. [s87 fors ot (3)-39]
a) go b) goes ¢) is going d) are going Ans:b
54. Orthita as well as Obhinibesh (to be) — attending the party. [s87 férms At -39
a) are b) is ¢) have been  d) been Ans:b
55. The ship with all its crew — lost after the terrible storm. [DU (%) 16-17]
a) were b) has ¢) have d) was Ans:d

@M lost IJI7® AT adjective 1T | ©IR 99 AT was 97, has 77 |
56. Shormi as well as her sisters — to buy fashionable jewellery. [BSMRSTU (D) 16-17]
a) like b) likes ¢) is liked d) were liked Ans:b
57. Her brother along with her parents insist that she reamin in school.
[FrezTTe =ree fafee srefram (Wﬁﬂj‘lﬁ)-b), KU (L) 14-15, JKKNIU (AL) 18-19]

a) are insisting b) have insisted ¢) insists d) were insisting Ans:c
58. Rahim and not you — won the prize. (2fr 7, sfewr Fwrafs forery) [RU (A3) 12-13]
a) is b) has ¢) was d) are Ans:b
59. The father with his three sons — left the place. [E T2 AT (27¥)-03]
a) have b) were ¢) has d) will Ans:c
60. Everything including the books — bought. [T @ fSfef witwetan s witegs5-30)
a) were b) was ¢) are d) have Ans:b
61. Nipa as well as her brothers (come) to me. [V ersTs fas-50]
a) have come b) are coming  ¢) was gone d) has come Ans:d
62. They as well as he — incorrect. .
a) is b) be ¢) will d) not e mz:‘;)]

“f7% T@7 24 are @@ subject & singul
63. They as well as he - incorrect,
a) is b) are ¢) will

ar 4l plural 1< 7t @+ be verb R ®Y be I FA IH |
[RU (D, s@ifien) 11-12, MBSTU (D) 19-20]

. ; d) was .
64. She together with her teacher i ) Ans:b
= present in the meeting
e N Y U P
a) were b) was ¢) have B had [KU (rrefiers ge1) 11-12]
65. Ruma as well as Jhuma » Ans:b

. = happy,
The tiger as well as the leopard - » big cat [DU (D) 99-00]

a) is b) are [DU (D) 98-99]
MASTER ) €) were d) have been Ans:a
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, : s
G Mr Ali as well as his two sons (to be) present there yesterday. [RU F1) 12-13]

) Was B} were Ej is ﬁi are Ans:a
1@ yesterday SR R4t verb @7 past indefinite tense 2 1 @1 verb fRE was T !
6. Find out the correct sentence. [1fS @ 7w w1 Grata 7wy =] [DU (C) 93-94]

g) Fame as well as fortune were his goals in life.

p) Fame as well as fortune was his goals in life.

¢) Fame also fortune was his goals in life.

d) Fame and fortune were his goals in life. Ans:d
¢s. The verb agrees with its subject in--- @t @ Wuﬁ:ﬁmmmﬂwﬂr—o@o]

fﬁ The mother together with the daughter was walking slowly.

i;) The mother together with the daughter were walking slowly.

c) The mother together with the daughter had been walking slowly.

d) The mother together with the daughter have been walking slowly. Ans:a
9. Choose the best option. [RU (D, wiferen) 11-12]

a) The teacher along with the students were present

b) The teacher and a student was present

¢) The teacher along with the student was present.

d) Every student were with the teacher Ans:c
70. 'I}le decoration of the new office block, including the furniture and curtains, —.

?) is more pleasing b) are more pleasing [zt A= (AEO)-3¢]

¢) have most pleasing d) is most pleasing Ans:d

g CF0G more IR X | @ <1 I 9o 41 2 | 1% more pleasing X A 1 R =0
the most 999 T¥ | O very td most + adjective, a + most + adjective + noun IJI° I |
[RU (D, <ife) 10-11, PUST (C, 7%) 16-17]

71. Identify the correct sentence.
5) He together with his friends has come yet.
b) He together with his friends have already come.
¢) He together with his friends have not come yet.
d) He together with his friends has already come. Ans:d
Together with 7@ % a3If%@ noun/pronoun 4 CFLA 2t42 noun/pronoun SIH verb T |
%57 @14% Sentence @ already T | Sub + have/has + already + past participle + object + Ext.

7 @14 Sentence 9 yet (9| Sub + have not/has not + past participle + object + yet.
72. The actress, along with her friends ------ i [BRUR (%=1 @ Aifer R wegam) 11-12)
a) are going to a party tonight b) is going to a party tonight
¢) had been gone to a party tonight d) would be going to a party tonight Ans:b
73.  Which sentence is correct? [JnU (A) 10-11, NU (3f¥em) 10-11]

a) Tania as well as her friends are participating in the party.
b) Tania as well as her friends is participating in the party.
¢) Tania and her friends is participating in the party.

d) Tania with her friends are participating in the party. Ans:b
14. The scopes in the new subject, including the availability of a celebrated Professor,--

a) are to be taken into consideration b) is to be taken into consideration

¢) has to be taken into consideration d) both a and b [BSMRSTU D 15-16] Ans:a
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75.  Show the correct use of ‘along with’- kel x"ﬁﬂﬁw |

jases

¢) Karim along with his sons are cating rice.

d) Karim along with his sons have gone to Dhaka. Angy
76.  The verb agrees with subject in — [DU (B) 98-99, BSMRSTU (F-wtfirey) 14 | 5
‘l) He as well as his two brothers are skilful drivers. ey gAY @ *ﬁw"’ﬁ%
b) He as well as his two brothers have been skilful drivers. ki mﬁmﬁsoﬁw_%

c) He as well as his two brothers were skilful drivers.

d) He as well as his two brothers is a skilful driver. _ Ans:g
m Either — or, Neither — nor, or, Not only — but also @l I& «Ifd® subject 9 ¢ verb
0 o7 ©1w F¥BW subject @ number/person S | ACFCT assertive sentence 4 or, nor, by
also @¥ %= singular subject ¥R singular verb T @< plural subject AIFCT plural verb xz,
Either he or his friends are to blame. No damage or injuries were reported. Either the judge
or the lawyers ask the witness questions. Neither the carpenters nor the plumber has finisheq
the work. It was a miracle that neither the passengers nor the driver was injured in the car accident,

77. Neither the moon nor the stars — visible last night. [ 2 @t (o). sq)
a) was b) were ¢) are d) had been Ansb

78. Neither Sharmin nor her friend — present last week. [Rre2fre 7= GageR-yy]
a) were b) was c¢) have been  d) is Ans:b

79. Neither Rini nor Simi — qualified for the job. [29" BCS, JU 09-10, CU (B,) 12-13, saraws=t
HFGTIR AT (FF $o, gl TFF (J10ee A -8, [U (C) 15-16, IRFTA (7T GFIS de-d]

Neither Rahim nor Karim — qualified for the admission test 2015. [HSTU (C) 14-15]

Neither Rima nor Hira — qualified for the admission test. [JUST (A) 12-13]

a) are b) is ¢) were d) had Ans:b
80. Choose the correct sentence. 7 [FTei@ rmT/Betrerer et st (ATEO)->]

a) Either they or I are wrong b) Either they or I is wrong

¢) Either they or I am wrong d) Either they or I were wrong Ans:c

g1. Either you or I - wrong. [HSTU (E) 14-13]
Neither Sufia nor I — capable of solving the problem. [DU (A) 10-11]
a) are b) were €) am d) is Ans:c

82. Neither Jane nor her brothers —
4 consent form for tomorrow’s field trip.

. RU (BBA) 03- 5
d . [ ) 03-04, DU (C) 11-12, JU (E-3) 13-14]
Ia\l)e?fheer Mr. K 'b) needs. ; ¢) is needing d) has need © o )Ans:a
83. p mmm%a;mp nor his friend are invited to Speak at the semi
: < ‘ ?.ILE'C?;‘Q‘ Woﬂ-m HU ; qwn_ ' L s llllnilr.
a) is invited to speak at (e semi FW‘TWT@]‘E{) [Pubali Bank-11, DU (D) 12-13]

ol nar b) are inyj
€) is 10 speak at the semjpa, ) are invited to speak a the seminar

84. Wl;:ld}: of these is corpee(s &) are speaking at the seminar Ans:a
A) Eit ¢ a,
A) Either he or hig frfends have pulled the wa] down (@pX

C) Neither e or his f;
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l Neither professor Abdul Quader nor any other faculty member — to contest for the

B an’s position- [CU 02-03]

vemten i p_i'is intended ) has intend ) intends Ans:d
pich of the following sentences is correct? [DU (B) 96-97]
86, o Bither the student or the teacher are to blame. A ud:
i pither the students or the teacher have to blame. o gladl 41 2q o oY
E" ither the students or the teacher has to blame,
a5 gither the students or the teacher is to blame. Ans:d

dentify the correct sentence. [G7 3 OIT @RFT 3O A ] [RU (D- frsm) 09-10, 10-11]
) Either she or her sisters is responsible.

b) Neither she nor her sisters is responsible.

c) Neither she nor her sisters are responsible.

[1) Either she nor her sisters are responsible. Ans:c

Many a/an (SCTFR/F© ) 9T AT noun 8 verb THIR singular & | .
\fany /an + singular noun + singular verb : Many a good man has been destroyed by drink.
\fany @ man has done so. Many a man does not know his own good deeds. Many a man was
present there. Many a student has made the same mistake. Many a man runs after money.
¢3. Many a student — his/her time in idleness. (St7F 2 weHTIR 74 78 904) [NU (TfRF)13-14]

a) waste b) wastes ¢) wasting d) are wasting Ans:b
g. Many a — tried to complete the work. (FTS0! (47 T (521 TS, FACR)

[GeTeTs @ FEB-0q, BSMRSTU (E) 15-16, NSTU (C) 15-16, #1t Rt ieéa o GB1E-20]

§l.

g) men has b) men have  ¢) man have  d) man has Ans:d
90. Many a man — succumbed to such temptation. (W SRmeTEd ST ARF-Sb ]
a) get b) are ¢) have d) has Ans:d
9. Many a student — to qualify the driving test on the first try. [CU (A) 16-17]
a) fail b) fails ¢) pass d) passes e) want Ans:b
9. Many a flower — born to blush unseen. (¥° ¥ T3 sfe T™) [RU 08-09, MBSTU (D) 15-16]
a) are b) were ¢) was d) is [JKKNIU AL 18-19] Ans:d

af% <3 53w 727 | 7T9aM verb @7 present indefinite tense 204 | 912 verb T is T
m Infinitive, Gerund, Clause Ifr subject = < third person singular 9 verb ¢
N.B. Gerund @7 plural object 21%ces singular verb 09 | e.g. Peeling onions makes me cry.
Telling lies is a very bad habit. (farest <t 43 9ies wrey) Refusing invitations is not always easy.
93. Telling lies — a great sin. (firelyt F1 TRIAI) [Gererad Topmeadl AT El-so, b Rraas (TR w®)-30]
Buying clothes — often a very time consuming practice. [CU (E) 08-09, D 22-23]
a) am b) are c) was d) is Ans:d
%. Educating all people — 2a mammoth task. (° cTece eI 4T e 1) [doon e fam-su)
Reading novels — my favourite pastime. (GATT “ret S fe weE-fewE) [CU (G) 16-17)
Reading novels — my passion (THAFIPT #IGUS WM &5 SIteTl =1it™T). [CU B 09-10, BRUR D 13-14]

a) is b) are ¢) be d) have Ans:a “%
9%. Studying lots of books (make) a person knowledgeable and wise. [COU (A) 16-17]

a) makes b) make ¢) is made d) making Ans:a
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96. _,‘Yhat you say — true. (g1 T 3 ©f 78] = (S 1 7)) [RU mmﬁmm
a) do b) does c) is d) are Ang;¢

A subject B What you say 5 noun clause &R verb f5 singular 22 | 91, be verb 4z o,

adjective 307 | AT true (adjective complement) At verb f does 1 2 is 2|

97. To err — human. (¥ NaT G 37) [fraafst B it o)
a) are b) be ) is d) not AnS:c

RO Time, Distance, Weight, Length, Money aUi a##d sfg ortes plural TT8 T4 By

FHfBTE @0 unit RO @ @ o7 GifF singular verb a& ¥ | : ;

Two hours seems a long time to have to wait for the next bus. 40 hours 15 4 fairly average

working week for most people. Five years is the maximum sentence for that offcnce.

Fifteen minutes is allowed to cach speaker. Six hundred taka is too mu‘ch for this bag.

One thousand taka deesn’t buy much nowadays. F ifty pounds is the best I can' loffcfr you for

the dress. Fifty pounds/dollars does not go very far these days. Hundre(-l miles (;S a short

distance for those who drive fast. Five hundred miles is a long distance to drive in a day.

fag SRS G W TR W SIS I plural verb &% A |

Ten vears have passed since I met you last. Ten thousand taka were‘ scatterefi on' the fgoor.

Four-years have passed since that day. Ten years have passed in the twinkling of an eye.

Two vears have elapsed since the attack. Two hours have elapsed since he fell asleep.
Ten 3;ears of marriage to him have made her life a misery.
One and a half years have passed since I last saw her.
98. Fifty kg —really a heavy weight to carry. [eirefires raarar o (8¢ €171)-53]
Six gallons of milk (to be) still in thg refrigator. | [KUC 19_20.]
a) are b) was c)is : d) were Ans:c
99. Twenty years — passed since my fatl?er died. . [RBTE So-3YST (ATed FHRI-33]
a) has b) have €)1s d) having /Ans:b
100. Twenty years — since my mother died. [zt AR ofiragaT FHE-3Y)]
a) has passed b) have passed ¢) pass d) passed Ans:b
101. Taka five lakhs — a good amount. (e ST aFowa-33]
a) are b) is ¢) have d) were Ans:b
102. Fifty miles —2 long distance. S —
Five miles —a long distance.[IU C 10-11, GA4=PT Tgecy s=ifas sael-yy, AfRaqraeey Afmre-2]
Forty yards —a good distance, (5fg= srer 4=f6 ©itar 799) (DU (A) 02:03]
a) are b).is ¢) had d) were Ans:b
103. Ten years —4 long time to wail,  [7neean sfime et famms-3 q, e Siiecs wRT 5eam-22]
a) have been b) are ¢) is B et e
104. Ten ”muw.nd dollars —a lot of money. [DU (C) 14-15, smisomt sfigreca sreer fres-34]
Ten dollars — a lot of money for a cup of coffee, JnU (C) 14-15]
Fifty thousand dollars — a big amount of money. [DU(D) 98-99 ki 4
Nine thousand taka — a good amount of Wiy . ) t;q ,InU (A) 10-11,PUST(B) 13-14]
@) are b) is " p— ' . ,[ f6fea ﬁ@*ﬁ.{ Wi (e 2)-0Y)]
: ' ) aren’t ) b
105. Twenty dollars a week (not go) far, e s a e)it’s Ans:
a) Is not go b) Does not go ) Will not ¢ 8 T Wifira fart wikweraa @@y awei@-08]
MASTER 20 d) Are not go A_n,s_B
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gubject e preposition W 7 % A1 "o 1@ A SR FCAR verb o @Al
e <f2 FEAAS preposition (@) 4 prepositional phrase & oftda subject P

b wde preposition & oeda subject B plural @t verb B plural @R singular @ verb 0
< | fFE @ sentence 4 i «@ifeE noun @ e afies preposition G 2 T GUFE

_moular
reposition ¥ ot 9% noun A number 7 A verb PHA |
.106 The priceS of rice — rising, (P19 WAQTEA! AVIR) [repfs s sy Boprealdt drar-35)
a)is b) was ¢) have d) are Ans:d
(07, The colour of her eyes — blue. (S1% (B4 1 ) [sow i frame (2)-5Y]
The list of items —on the desk. (e i coraq S wg)  [BSMRSTU(G) 15-16]
) are b) is c) were d) none of the above Ans:b
108. The taste of mangoes — me very much. [eferaafs st szt e (fAfea)-sa]
a) tempting b) tempts ¢) tempt d) have tempted Ans:b
109. The presence of students is important. Here — [af&arre apsTeet i i Az AA5eE-53]
) subject differs from verb b) subject agrees with verb
¢) subject is in plural number d) subject and verb do not go together Ans:b
110. The reason of my absence — my illness. (ST weifafeq FrRe A W70 [JnU (E) 14-15]
a) of course b) nothing but  ¢) was d) due to Ans:c
111. Poor visibility due to fog and rain — accident. [JnU (D) 13-14]
a) cause b) causes ¢) causing d) have caused Ans:b

Due to (=because of) ZE preposition--aR &I spget wet Poor visibility (RToPAT CTdT/ BarT=reT)
2% singular subject 1R singular verb < | T S @ 3 e A o w51 90T |
112. The capacity of the students — to be evaluated. [RU (B, Law) 12-13]

a) are b) has ¢) were d) will Ans:b
113. The invention of automatic weapons — endangered our life. [NSTU (A) 10-11
a) 18 b) have ¢) was d) has Ans:d
{14. The effects of the climate change — devastating (R&). [NU (@fireg) 11-12]
a) is b) are ¢) has d) had Ans:b
115. The files of any computer — vulnerable to any electronic age thieves. [NU (3frsy) 09-10]
a)is b) are c) was d) has been Ans:b
116. A basket of rotten oranges — thrown away. [RU s 05-06, sirafir fore wimed fEoawe-dv]
a) were b) was ¢) have been d) have Ans:b
117. A basket of apples —been sold. [DU (B) 06-07, Gl T (Fif wfeT)-38, MBSTU (B) 14-15]
a) has b) have ¢) having d) haven’t Ans:a
118. A writer of stories — need of imagination (Ferife). [2V wifwere 7% AW ARBEE-0b]
a) does b) have c)is d) has Ans:d
119. The use of pictures — speaking tests — common. [DU (C) 03-04]
a) in, is b) to, was ¢) on, were d) of, is Ans:a
120. The cause of the series of disasters — not yet known but an enquiry committee has
been set up to find out what happened. [CU E 03-04]
a) has b) is ¢) are d) were Ans:b
T passive 5@ known @ WA been 3 6% has 2@ 71 | (-is known or has been known)
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142. One-third of the students — present in the clnss, (DU (D) 1415, wiesoitn ""-';“";"h"i‘).)-;d]
a)is b) arc ¢) remains d) do not Ang:)y
143. Three-fourths of the work — finished. (23" BCS, DU (D) 99-00, b arsiue vawory,

BRUR B 14-15, JIKKNIU (®) 15-16, BSMRSTU I 16+17, vedist ayayietar @ @ samen wfeia.dn|

a) have been b) was ¢) were d) has been Ansy
144, Three- fourths of the earth’s surface ~ by water. [NU (urfam) 14-15, DU € 22.23)
a) arc covered b) covered ¢) is covered d) has covered Ang:c
145. The correct sentence is — [ R- g Ya sl [sfamet AT AEWIA g )
a) Two-thirds of it is fine, b) Two-third of it is fine, S0 oA frawa.yg
¢) Two-thirds of it are finc. d) Two-third is fine, Ans:a
146. R-pOrmmew 7T Reeafey ---- (oo & mDrewa rars S favim.s)
a) two-thirds b) two-third ¢ two by three d) two above three Ans:a
147. Three-fourths of the books — sold. 18y satrcya Goprewdt A1 (Frfem). )
a) have been b) has been ¢) had d) was Ans:a
148. Three-fourths of the novel —. [NSTU (C) 16-17)
a) was read b) were read  ¢) had read d) been read Ans:a
149. Two-thirds of the road — repaired. [RU D, wnfrer 10-11]
a) have been b) are ¢) were d) has been Ans:d
150. Three-fourths of the assignment . (Fo-vodied QIRATs O quee)  [CU A 16-17)
a) have been finished b) has been finished [CU B 20-21)
¢) have been finish d) have been finish ¢) have finished Ans:b
151. Choose the correct sentence. [S& G2-SOIaR Bl T4f¥o] (1U (G) 1213
a) Two thirds of the students is present in the class/today. [IU (B) 15-16)
b) Two third of the students is present in the class/today.
¢) Two thirds of the students are present in the class/today.
d) Two thirds of the student is present in the class/today. Ans:¢
152. Identify the correct sentence, [73-$SIaI $loleT ¥1ew! ZTATE] [T AT ()30

a) Two thirds of the jackfruit have been eaten.

b) Two thirds of the jackfruits has been eaten.

¢) Two thirds of the jackfruits have been eaten.

d) Two third of the jackfruit has been eaten. Ans:c
153. Identify the correct sentence. [fer1-vgdie ey wAfES]  [BSMRSTU D 18-19, F 19-20]

a) Three fourths of the people are absent.  b) Three fourth of the people are absent.

¢) Three fourths of the people is abscpl. d) Three fourth if the people is absent. Ans:a
154. Choose the correct sentence, [73-$SRI* e 78 TAME]  [RU (SS) 08-09, MBSTU (D) 16-17)

a) Two third of the crops ar¢ damaged.  b) Two third of the crops is damaged

¢) Two thirds of the crops are damaged.  d) Two third of the oria e aostbad - A
Crop zwe countable noun 1% 44 plural €4 1 1 (numerator) Two 18 & (denominator) thirds T |
The land is used to grow crops. Because of the cold weather the crops are later this year.
155. Which one is correct sentence? (ot #1651a y&-gdlies o atafe]  (mpafin s Freeoe]

a) I have ﬁni_Sth two-third of the works, b) I have finished two-thirds of the work

¢) 1 have finished two-thirds of the works d) I have finished two-third of lhcbwo(:k.. th
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156. Choose the right form
) Three-fourths of the
b) Three-fourths of the
c) Three-fourths of the
d) Three-fourths of the

157. What is the correct ex
a) Five and two—third
¢) Five and a two—thirds

of verb: Three-fourths of the road (to be) pitched.

road is pitched. [t e ew-o]
road were pitched.

road has been pitched.

road was pitched, Ansc
pression of the fraction 5 2/3? [rarerdl g feet-on]
'E;] g ive and two—thirds

. : d) Five and a two-third Ans:b
Fraction (SR 4= Percent (eF4t) T subject-verb agreement @7 AW @L 7T
Percent (%) @1 "‘Iﬁﬂ.‘ T plural verb 9ee #ifmey AT singular verb 2@ 1 About 50 percent of
the hous‘e needs major repair. About 50 percent of the houses need major repair.

NB. cardinal number (1, 2, 5 etc.) 99 #TF percent I | number 97 T percentage 07 7 |

Only 10% of the prisoners are well. A high percentage of the female staff are part-time workers.

158. Eifw percent of the land — cultivated. [CU (Cl) 14-15]
a) are b) is ©) were d) had Ans:b
159. Choose the correct sentence. [NU (Rers) 10-11]

a) Only four percentage of the prisoners are women,

b) Only four percent of the prisoners are women.

¢) Only women are the four percent prisoners.

d) Only the prisoners are four percent women. Ans:b
m No + singular/uncountable noun +singular verb; No + plural noun + plural verb
No goals were scored in the first half. No objections were raised at the time. No animals were
harmed during the making of the film. No pains were spared. There are/were no shops open.
In politics, there are no friendships. There are no winners in a divorce. No student is to leave
the room. There is no train until tomorrow. There were no suitable candidates for the job.
There is no hospital in the immediate vicinity. There was no bus, so we walked home.

160. In those days thelje (to be) no steamships. [JnU (C) 09-10]
a) were b) was ¢) would d) are Ans:a
4w AT A In those days ™ $9C2 sentence 43 verb f67r past tense @ T |

161. Which of the following is a correct sentence? (ST (1T I F?) [DU (C) 00-01]
a) There is no lessons today. b) There are no lessons today.
¢) There are no lesson today. d) None of the above Ans:b

m A lot of 2t lots of ¥ #t& uncountable noun ¥ singular verb < |

A lot of W43 lots of @7 =itz plural noun 2% plural verb <7 |
There are lots of fun things to do here. There are lots of surprises in store for visitors to the
gallery. Every year a lot of pollution is created, and a lot of trees are cu.t down. There are lots
of/a lot of places to visit in Bangladesh. There are always a lot of exceptions t_o grammar rules.
There are a lot of empty properties in the area. There are a lot of bad people in the world.

162. A lot of in those papers — unreliable.
oroTnews pap [CU (E, Law) 05-06, &rfiE TP frme-2R, FAEw S wfET wre-20)

a) are b) were c)is d) be e) being Ans:c
163. There — a lot of people here waiting for the leader. [JU (C) 16-17]

a) is b) has ¢) have d) are Ans:d
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;mlt, Who (‘@ A" ®d) I subject TT &t AT singular verb A% I | \‘
It is we who are to blame. Who does not love flower? Who does not wish to be happy? |

w3 who ¥t plural fwf st 7 plural verb ¢t 1 We need people who are good at managip,
( were true. (451 T 77 T

ALk unreal past 99 (%0 it G =TT were 07| I wish i Xoga
164. !t-— the students who should not miss any class. [NU (e Pre lo-il];
a) are b) is ¢) has d) have | Ang,

(G 11 I 72T 8y 51 Z7) (arerfSetueret FrAoT A ng, o

165. _F_ind out the correct sentence.
a) Who does not know that two and two make four?
b) Who do not know that two and two make four?
¢) Who does not know that two and two makes four?
d) Who does not know that two and two have make four? e Anszg
[T Relative pronoun ¥fit subject R IIFe W O 99 verb & & relative pronoup
un 49g ﬁ?F "ﬁﬂ@' noun 7

@7 antecedent 9% number 'S person WP A ofzs | Relative prono : '
o is to blame. (13- o) It is you who are guilty,

e pronoun 99 verb @ person ey
Ips me. I am the man who has done it.

T G R EIEL I frfiBs, AZFR ITG-]
) Ans:c

pronoun (& antecedent ITT | €.8. It is he wh
&g person «¥ 6 &FPY antecedent YT relativ

antecedent W T | e.g. You are the person who he
166. You are the man who — always troubled me. [
d) were

a) is b) have ¢) has
167. It is you who — to blame. [ATEO-OS,EP??ITW-)O,fﬁﬁaﬂaﬁ-)), JU (E) 14-15, BU (¥) 15-16, NSI-=

szfat efsEe-q, CU A 19-20, mmwm@-u, ﬁvfﬁﬂwﬁmaﬁw@m wATEGE-R9]

a) was b) are c) is d) were Ans:b
168. It is I who — to blame. (anfarg card)

[ e frd-50, T R T SoPTRer -, St T ST FRFTE-2]

a) is b) are ¢) am d) were Ans:c
169. I, who —your friend, will help you in all possible ways. [DU (sf¥ge o ) 18-19]

a)am b) are c) is d) were Ans:a
170. Choose the correct sentence. [DU (A) 12-13]

a) It is you who is to play. b) It is you who are to leave.

¢) It is you who is late. d) It is you who has won the prize. Ans:b
171. A reward has been announced for the employees who — hard. [21st BCS, KU (C) 08-0%]

a) have worked b) has worked ¢) will be work d) have had worked Ans:a
172. Everybody who -2 fever must go home immediately. [JaU (C) 12-13]

a) have b) had ¢) has d) none Ans:c

lar noun i@t singular verb &2 ¥t f&@ More than two/three

More than one + singu
swyifir plural verb @29 ¥ | More than one person is going to have to find a new job.

More than onc man was present there. More than two men were present there.
e, More than one + thousand, hundred + plural noun + plural verb
173. More than two general people (to kill) in the fighting.
a) More than two general people is killed in the fighting,
p) More than two general people were killed in the fighting
¢) More than two general people was killed in the fighting. '
Ans:b

d) More than two general people have killed in the fighting
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-y sy -

?’

e e Some, severa

g The number of < o7 plypq) l, many) @z *& plural noun ¢ plural verb S

Noun A
A — number of @7 gy H AL singular verb IC7 |

nes“g“"d’“"rd/“g“iﬁca“‘/sizable‘;::;ru:: STt fantastic/goodgreat/growing/large/limited/
an — number of 9% cx@ eqyals: ; Tnsingmm a1 adjective TS AT |

:ﬂle _ number of 9% c5rg acm(:!l/zl:anc(;;easm_g/ mfiEtenninatc/inﬁnite g @ adjective AR
e A number of people were Dfesent growmgjlncreasing/large/requisite T I adjective
A number of parents have vojceq COn- A number of interesting suggestions have been made.
;re entirely avoidable. A numpe, £ ¢em about their children's safety. A number of illnesses
. olifications have been Ot artefacts were found at the excavation site. A number of
sufll:ms on wWomen go unr made to the taxation system. A significant number of indecent
t&\zood number of peoplzp::‘tee i ‘;Sl?lall number of children are educated at home.

‘m;,ber of documents from th u‘ g fr(?m the disease throughout the world. A limited
n_ are deprived of _e perl.od are still extant. Unfortunately, a sizable number of our
‘T‘s:l;:mber Ofilderly c;s rtil:.:lr basic rights. The number of unemployed is rising rapidly.
The actual number of peopl mg.' Th? number of people present was greater than we expected.
- PEVE S killed is not yet known. The exact number of people carrying the
virus is unknown. The growing number of visitors is/was damaging the footpaths.

RIS Tht.:re/Here *+ singular verb + a number of + plural noun

e.g. There l? a l'flrge number of boys in his class. (Wren & Mértin) There is an equal number of
boys and girls in-the class. (OALD) There has been an increasing number of cases of the
disease. (CALD_) There was a record number of confiscations by customs officers last year.
There is a growing number of women in high-profile positions of the government.

T 9| There/Here + plural verb + a/any number of + plural noun 9% TITE IS ABeTS |
There are a number of possible remedies to this problem. There are a number of things we
need to discuss. There are a number of routes to qualifying as a social worker. There were
a number of errors and omissions in the article. There are a number of different points of
view on this issue. There are an infinite number of solutions to the problem. There were/are
a large number of candidates for the job. There are a large number of potential customers for
the new product. There are any number of miracle cures on the market for people gullible
enough to buy them. There are only a limited number of jobs/tickets available.

57 STIREATGTAITS TG FRATHa SifReT™ X | @Ot 0T T (BT P |
alarge number of &% (=@ singular verb @32 The large/requisite number &% ¥ plural verb

A large number of invitations has been sent. (CALD) They were not able to start the meeting

until the requisite number of members were present. Experts believe that the large number

of cancer cases in the area are directly related to the new nuclear power station.

%Y, The number of + plural noun + relative pronoun + plural verb -—-- singular verb
e been questioned on this matter is quite small. Today the

t is bigger than that of thirty years ago. I couldn’t believe
the number of cars that were parked outside the hall. The number of people who fail each
year is now in single figures. The number of students who have filled out the admission forms
is quite small Th; nun;:ber of cars which are stolen every year has risen.

i 465
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174. rIgentify the correct sentence. [#1f5 @ 7@ T "?ﬁ“?‘%
a) A number of students is absent today. b) A number of students are absent today, N
¢) Number of students are absent today. 'd)' A number of student is absent today. Ang

175. A number of refugees — been turned back at the border,  [ffrF-a7 ”mmﬂﬁml

a) are b) has ¢) is d) have Ang:g
176. The number of boys present in the function - satisfactory.[*@ T 2T W.,,,]
a) was b) have ¢) were d) have been Ang:,
177. A number of students — joined together to form a club for hockey fans.[vwae ey,
a) has b) have c) is d) are Ans:h
178. There — an equal number of boys and girls in the class. [RU (E, c@19) 13-14)
a)are b) is ¢) has d) were Ang:h
179. Choose the correct sentence. [ '@ sl AT T SFH AT FH7Ei-08]

a) There are a large number of boys playing in the field.
b) There is a large number of boys playing in the field.
¢) There has a large number of boys playing in the field.

d) There is a large number of boy playing in the field. Ans:b
180. The number of students seeking admission —. [DU (A) 07-08, RU (A5) 11-12, (D) 11-12]
a) have increased b) have been increased PUST (C, T%%) 16-17
¢) is increased d) has increased Ans:d
181. The number of people who came to the concert — disappointing. [SUST (A) 13-14]
a) are b) is c) wouldbe  d) very Ans:b

Here/There + singular verb + singular subject, Here/There + plural verb + plural subject
Here is a list of words in alphabetical order. There is a vast array of books on the subject.
Here are the keys. There is someone on the phone for you. There are two people waiting outside.
182. — there any cars on the street? (31e T N R fr?) [F Fepmad Sfmera @ i FHeer-3y]

a)ls b) Are ¢) Am d) Isn’t Ans:b
183. There — twelve months in a year. [FTegfe s el SorT e 33
There — six seasons in Bangladesh. [ 3B -39
a) were b) was c) are d) have Ans:c
184. Here — book and bag that I lost last week. [CU (D3) 16-17]
Here — notebook and report that I promised you last week.  [Cliffs TOEFL P T4 (2)]
a) are the b) is the ¢) was the d) has been Ans:a
185. There — some changes recently. [NSTU (D) 15-16]
a) are b) hasbeen  ¢) have been  d) had been Ans:c

Few/Many/Some + plural verb, 943t Few/Many/Some + plural noun + plural verb
Many/Some/Several of + determiner + plural noun + plural verb;
Many are called but few are chosen. Many aspire to greatness bu; few attain. Many have
tried but few ha\_'e succeeded, Some are born great, Some say one thin some'sa aZother
Several of my friends are learning English to go abroad. Some of his 'ogl;es were ze rude:
Several of the passengers were badly injured. Some of the officials h;ve special pril;/};leges-

Many of the exhibits were damaged in the fire, and som
‘ ’ e were
186. Many goats are grazing and few shee totally destroyed.

i , P - sleeping in the field. U 07-08]

B is b) are ¢)hasbeen  d) was " Ans:b

MASTER = —~
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100k 1 few photagrapts, by ™
Nm b&!! the bmvzz de” ﬂm e

m:, Al the hooks have
@) are none

ht::*n vmld [ hf‘ﬂ‘ Mt

(1651617, CALE 4

£ f‘r {

145, None of the student ? one ) none ) rot any *“!"“’35%*3

l) h b‘ TR Car, (Vg arag ofy ¥ 7% 90 L aw) 9-3%, 33 S G <5 357

a5 W LS et Lde EV &y g aiito o 7’.‘“

189. \fm(: helpl t j il ﬂ have W i HENIEC b7 A0 2

Hre g . e 3, §o. 8F, e P L e B T

N P b) is é) Were ‘i WZs Arsa
None £% 2 verh singular/pluraf 3

5 CEIL X A B @2 they Fhe oHE Ve & TE
None T plural subject 472 w22 clause % present tense € 575 7% » None €3 #1Z a0e TR
190. Choose the correct sentence, R (ES

g) : th 198 i AT i 2]
vone of the pen writes wel, b) No one of the pen writes well

c‘) None of the pens writes well, d) None of ﬁ&’r’; p;*r,;s "i.'*'«".; well ”
191. None of the students — the exam

a) has finished b) finish
192. Which of these is correct? e R
A) No one of his friends has taken brwkfasa."’ o
B) None of his friends has taken breakfast. '
) None of his friends have taken breakfast. . ﬁ,m
No one of + plural noun + singular verb ; None of
“ A ETE FTZ V?’?”“WA&C?"@!&W' “
fidthemauc‘il calculaﬂs:ms%‘fw "
vae and five makes/is/equals ten. Fiv
2x + v equals/is equal to 7 (25 + y = 7)
193, Two and two — four. [ss2% frnz
Four and four — eight.[77== »%

z) mzkes b) make
; Everyone, Evcrjmys

ﬁngnlar mmwzm

2) R-‘i.‘:{'y'?}fﬁj/ have gone there.

¢) Everybody are gone there.
195, ~— any of the witnesses been

a) Has (ﬂ Is
196, Everybody wants to g0 t

What shall we do? o

a)is , seemning b) scem
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(XM Both <= ez 7zemz, B | AR Both 20 plural subject & 7 plural verb s,
Both were/are good. Both of the women were/are American. Both of them live in New yo,

197. Both of the mice — underfed. (377 751 Tors op@ f2e) [RU et 09-19
a) 1.s b) are ¢) was d) will Angy,

198. Neither of my brothers is handsome, but both — to be flattered. [DU (a) 09-1¢)
a) likes b) like o) liking ¢) were liked Angp
gular noun It singu]ar

Most (Sfesie) of + determiner 93 T uncountable/sin

verb W plural noun %% plural verb J3%% ¥ | (T : Most of the scenes were filmed in g
unfit to live ip,

studio. Most of the building is in very bad repair. Most of the buildings are

199. Fill in the blanks: Most — my jewellry - still missing. [SUST B 13.14)
a) of, are b) of, is ¢) every, are d) all, is Ans:}

OS] coresr wer weiat oreisr I it et wer e plural verb Z | o singular verbe e <y,

e.g. In cricket, Bangladesh have defeated India several times. (B AT SHCE A W)

Brazil have not won the World Cup in football since 2002.
k. (IEG, Raymond Murphy)

Brazil are/is playing (against) Italy in a football match next wee
200. Which sentence is correct? [ wRReHam-oo, AT SO TZFAT T35
a) Brazil have won the world cup five times. TG TOTere SFEYL
b) Brazil has won the world cup four times. Fiferer i T et ferweny
¢) Brazil have won world cup four times.
Ans:a

d) Brazil has won world cup four times.
m Police, People, Cattle @3t plural collective noun ©i2 plural verb a1 ¥ |

People like to be made to feel important. People have expressed legitimate fears about the
spread of the disease. The police are investigating the murder, but haven’t arrested anyone
yet. The police are guardians/the preservers of law and order. Have the police been informed?

Cattle were first domesticated in Neolithic times. The cattle were put out to pasture.
201. The police — informed yesterday. [42" BCS]
a) is b) are ¢) was d) were Ans:d

Choose the correct sentence. [12" BCS, RU 08-09, SUST07-08, air-aitafis szt for (orreren)-38]

202.
a) The matter was informed to the police. b) The matter has been informed of the police.
¢) The police was informed of the matter. d) The police were informed of the matter. A:d
203. Choose the correct sentence. [75% & S SR St il
a) The police are very often helpless. b) The police is never hel le.ss
¢) The police is sometimes helpful. B} All polices not bad pless. i
204. Choose the correct sentence. (At ) e Wﬂmﬁ? ) ns:
a) Cattle is grazing in the field b) Cﬂttleﬂar:! et FEHAT (@T-WCLATT- 5]
¢) Cattles were grazing in the field d) Cattles gmzu.lg ".] the field
é are grazing in the field Ans:b

t Cﬂl!ecl:"iﬂoul(l)ﬁm unit I singular verb SR TR 3T plural verb :
Our team Is the best, Our team are wearin i f ; verb AT ¥
; ‘ their ne . .
_The family ha g & W jerseys. Her famil ’ e
her Yy have a history of mental disorder. His family are all obseyrvczl?:t:s;/lt ?‘pprecmt
5 uslims.

205. T)h‘e mob — dispersed. [y et sfivetas Soretfimde-yo, szt O
B is | Z YAETaT ©oiofz -
b) are ¢) have d)h B T ad
'\MASTER = e
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214.

215.

216.

217.

218.

.

;7 3. Which of the following‘sentc
a) In the accident, a number of

TS AT ¢
% ; SIS W 00T
e € R

) WA S R O

nces is correct? 1y [BEZA @7 5t agi7-20]

b) Everyone were pleased e Passengers were died. a) killed/dead b) was
: : : s atthe party, sstions d) is TA |
¢) The interviewer asked a number of question R e

d) Each of the boys are sufferine o
are suffer . i
ffering from corona virus. Ans:

Ja in the field is fc“""g sick, A 97 A wARAT-30
#) One of the player b) One of the players et w1 | ]
c)' S GLOTRIRye d) Most of the player Ans:b

. Either the manager or his assistant — the company’s personnel needs.

: ¢ [DESCO @z gfeara =S syrrara-ss]
a) reviews b) review ) are reviewingH) is reviewsed Ansia

. Every member of my family - here tonight. [RU B 18-19, gufst @ saems wfw 7ame-ss)

a) be b) are c) is d) in Ans:c

. Choose the correct sentence. (o oy SR Wil [siaraet St e oo fofee afrBs-sa)

a)It g who is to pay for the loss. b) It is you who are to pay for the loss. ~ Ans:b
¢) Itis you who has to pay for the loss. d) It is you who is to responsible for the loss.

. Choose the correct sentence. [eafir szt ferme (o7 T)-35]

a) Poors are not always dishonest. b) The poor are not always dishonest.
¢) The poors are not always dishonest. d) The poor is not always dishonest. Ans:b

. Which of the following sentences is correct? [AreET effsraiel #fm (AfETs 7Z@@)-35]

a) Neither of the two boys were wrong. b} Neither of the two boy was wrong.
¢) Neither of the two boys was wrong. d) Neither of the two boy were wrong. Ans:c

. Which one is the correct sentence? [wifaeifa et sfemeraa gfa TA6139 (FRa4)- 3]

a) Either of the book is stolen., b) Either of the books are stolen.
¢) None of the three d) Either of the books is stolen. Ans:d
The principal and chairman — present at the last meeting. [HSTU (C, T=(%%) 15-16]

The chairman and secretary — present at the last meeting.
[tz wfiets firs ZTsiorita qa s ifess-ov, anfi e firee (3o @, 38)-3v]

a) is b) was ¢) have d) were Ans:b
Which one is correct? [T i Afbarcn Swam Fzed-sv]

a) One of my sisters are a nurse. b) One of my sister is a nurse.
¢) One of my sisters is a nurse. d) One of my sister are a nurse. Ans:c
The dangers of a storm — torrential rains, high winds and storm surges.

[areETe= @b i seefaenaa wfe=-34)
a) include b) includes ¢) including d) to include Ans:a
Choose the correct sentence. ' [ FdeEr-5q)
a) One thirds of the students are absent.  b) One third of the students are absent.
¢) One thirds of the student are absent, d) One third of the student are absent. Ans:b
Choose the correct sentence. [T ale (o1, eraemial sfeia-so, el e fa, i wfem-sq]

a) One of the boy’s are meeting me today. b) One of the bay will meet me today. Ans:d
¢) One of the boy is meeting me today.  d) One of the boys is meeting me today.
469
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219.

220.

221.

222,

223,

224,

2235,

226.

227.

228.

229,

230.

231.

232,

233,

234,

B e

Which one is the correct sentence:; ) Each boy and each girl are having ?;;m'u.
&) Each boy and each girl ave Fe d) Each boy and each girl were having , u Ang,
'c) Each boy and each girl has a pen. tion ary. [m%m N

iiéch learner of English —2 good Ef!IC d) - ‘ F""xs”
hj need b) - Mo [ﬁm WIEYET-30, ToA-srgamd * Ans:d
All that glitters — not gold. §is d) make WZ:M]
2) ar b) were - -
%)):lel Zf the boys — present. (I S e E) . . ﬁm“ﬁ’ww
B was b) were ¢) have been  d) ‘;ﬁ: g Ang,
One of the crucial ... traffic jam. (’153",[cf WW " Ttﬁ [cTREm Sy
a) problemsis  b) problems are ¢) problem 1s d) problems were Ang;
Two and two — four. (730 7% B X¥) _ [33%% Frwe R ()1
a) make b) makes ¢) made d) make/makes Ans:p
“Karim as well as Nayeem — praise. [ferore @Wr?r AT TR s (B}
a) are deserving  b) deserves c) deserve d) is deserving Ans:h

Which one of the following sentence is correct? [, ko s e Rwe it -G
a) Each boy and each girl have pens. b) Each boy and each girl have a pen.

©) Each boy and each girl has a pen. d) Each boy and each girl has had a pen.  Anse
Jamal and I - to school. (amr i S oS %71 71w) [erew ARyamer e (i @ et e e )ol)
;2 walking b) walk ¢) walks d) are walk  [JKKNIU ¥ 14-15] Ans:b
He and I —ill. [ferres wsfspeiar Afoarercar Soowter sreart-sv]
He and I — well. (e e fra-s0, S yuw farwas frawor- 38, ef st Saelieram G-l “Afarer- )
My family and I — well. (1 “Hfeare ¢ Wiy sier wife) Ry (eraifaarT) 09-10, HSTU (A) 15-16]
a) am b) is c) are

The principal along with the teachers and paren
department install a traffic light at the street cr

d) was Ans:c
ts demand that the police

= . e ; ossing, [Pubali Bank (S.0) 12]
a) are demanding b) demand €) demanding  d) demands Ans:d

r\j};’hlch of the fOllOWiI.lg sentence is correct? (3w @ Armet st et sfases-3)]
2) The poet and novelists are dead. b) The poet and the novelist is dead

€) The poet and novelist is dead. d) The poet, the novelist and the playwright is dead. 10
Slow and steady - the race, (T s fam Ifes EREIS ) [=m5 Afada-5s, CU (D) 03-04
LU (B) 10-11, PUST (B) 12-13, airfires sresrsy ' ' " el

B will win b won k ﬁf‘“ (TFM)-s0, 36" BCS, 1 wfimarza feorra sizt-5¢]

B o I — of the system. [erer a1 (AEO)AZ]
' I'€) are in favour gy i« : Ans:

Th h d) is in favour

T] .e chu.af compefltor, as well as ourselves, — Prices thj wen e AEO-]

a) 1s obliged to rajse b) 1S obliged to rigj IS summer. [w=el A1e

€) are obli i - an S

a iy 1ged to raise d) are obliged in ri = Ans:2
Vhich of the following is g corre —

¢ ct -12
?) The cost of aJ] these articles ha SEHtenge? [ﬂmmﬁm(mm)-ou, RU (Aq) 1171 J

v . b ]
:'c-:)7 No news are good news, (= e © risen. - b) Between you and me affairs look dark-
d) The formation of th

a) is favouring b) are for favou

e paragranh i “"‘_‘3 ST <=3, I, Tt foeg WHTeT WIAT (TT) n
MASTER P15 are very important, [a) has, c) is, d) is] AP
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mose the correct sentence

a) Rina as well as Mina has come b)
¢) Rina and Mina is coming
236. Choose the correct sentence

(ol i . wfFra-s0]
Rina as well as Mina have come.
d) Rina and Mina were arrived. Ans:a

a) The can of beans were opened by Josh v o 1
b) The can of beans is opened by Josh -

¢) The can of beans was opened by joéh

d) The can of beans have been opened b‘y Josh. i

237. Choose the correct sentence.

a) Two-third of it is true. [eeifirs @ stefermt frstot A AfaprETe-03]

) _ b) Two-thirds of it is true.
¢) Two-thirds of it are true. d) All the above Ans:b

238. Which of the following is correct?

a) Each of the students. are good.  b) Each of the students is good
¢) Each of the student is good d) All of the students is good Ans:b

239. Select the correct answer. [IFeTa 4t 432 @ fem] (77 S fiesaa F2wd Afawrre-»s)
a) The number of people was very high.

b) The number of people were very high.
¢) The number of peoples was very high.

[AteTT atesa SfEAd-0d)

d) The numbers of peoples were very high. Ans:a
240. Each of the suspected men — arrested. (Frzse Ifewa dreFe e 321 Tateer) [KU B 19-20]
a) had b) have ¢) was d) were Ans:c
241. The Honourable Prime Minister with all her cabinet members — the function just
now. [KU B 19-20]
a) have attended b) attended ¢) had attended d) has attended Ans:d
242. Neither of the books — interesting. [DU (Sf¥gs a 3e) 18-19]
h) were b) are c) had d) was Ans:d
243. Junaibah along with her brothers — three. [JKKNIU (B) 18-19]
a) are b) is ¢) am d) be Ans:b
244. The wealthy — not always happy. (ara/Rgarar I7Ean 7 ) [BSMRSTU (F) 18-19]
a) am b) is ¢) are d) be Ans:C
245 Two-thirds of the city — (A7 72-gomI i<e TR [CU (A) 18-19]
a) have been inundated b) has been inundated (by flood 8%y ©IR passive
¢) have inundated d) has inundated Ans:b
246. Which one is correct sentence? [RU Al 18-19]
a) Two hours is a long time. b) Two hour is a long time.
¢) Two hours are a long time. d) Two hours are long time. Ans:a
Twenty miles is a long distance. [RU A 17-18], Ten miles is too far to walk. [NU (vfZ®) 03-04]
247. None (to show) respect there. Right form of verb is- [RUE 18-19]
a) shows b) show ¢) is showing  d) was showing Ans:b
248. One of the snake charmers — playing on flute. [BSMRSTU D 18-19]
One of my friends — 2 student of Rajshahi University. [RU (D, sR1f¥es) 11-12]
a) is b) are ¢) has d) have Ans:a
MASTER 471
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[RU (Frefer) 06-07, IU (p) ™

8

249, Everybody — flowers. (aters $1 STARTT)

a) love b) lov ¢) li d) lovi

) b) loves c) like d) loving

5 _ c) c Ans.

50. I!l.e Vice Chancel_]_(_)‘r and Dean of science faculty — signed the paper-[BSMRSTyy, I&Sl.b

L5 D b) are B has d) have Ang
. The influence of diverse branches of science —. [CU (a) 18.1.9]

a) have captured widespread attention  b) has captured widespread attention  Ap.,
tured widespread attention

¢) have had captured widespread attention d) has had cap
252. Identify the correct sentence, (Rov-sgdies e wgZ®) CORNEST TN

a) Three fourths of the people are absent. b) Three fourth of the people are absent.
. rth of the people is absent, Ans:,

¢) Three fourths of the people is absent. d) Three fou
253. Which of the following is written in correct form? [BSMRSTU G 13.19)
a) Each of the girl is responsible for it. b) Each of the girls are respon§1ble for it.
©) Each of the girls is responsible for it. d) Each of the girl are responsible for it. Ans:c
[BSMRSTU D 18-19]

19]

254. Mr. A Mannan along with his four children (visit) the island.
a) visit b) has visited ¢) have visited d) Botha & ¢ Ans:h
255. A bouquet of yellow roses — color and fragrance to the room. [BSMRSTU D 18-19]
a) lend b) have lent c) has lent d) lends Ans:d
256. Either of the boys — done the work. (J51< CEREADISEY FIGGr FCaC8)  [BSMRSTU G 18-19]
a) is b) has ¢) are d) have Ans:b
257. Nowadays, price of every necessary thing —. [BSMRSTU D 18-19]
Ans:a

a) is rising b) is raising c) are raising d) are raising
[BSMRSTU D 18-19]

258. The bed and breakfast 4
?) are entertaining b) was entertaining

g;) has entertaining d) have entertained

Select the correct sentence. (= foafne <iees )

a) The rich do not last for ever. b) Riches does not last for ever.
e) Rich do not last for ever. d) Riches do not last for ever. Ans:d

Ans:b

259. [BSMRSTU D 18-19]

260. Neither Bulbul nqr_:his parents — come. | [JKKNIU D 18-19]
a) have b) has ¢) has to d) shall have been Ans:a
261. Neither the teacher nor the studelpjs — t.o use this book again. [DU D 17-18]
a) wants b) want ¢) wanting d) is wanting Ans:b
joerating meats — th : _ '
262. Refrlg g 1 Spreag 91‘ bacteria. [RU (D-=fFrey) 17-18]
a) slows b) slowing ¢) to slow d) is slowed Ans:a
ing raw fishes | ime i i g .
263. ;Stormg. r es long time in rgfrlgerators — the taste gradually. [BSMRSTUE 17-18]
a) subside b) decreases  ¢) destroy d) augments :
264. A lawyer — with clients in the court room. B Ans:b
A doctor — with patients in the big room [BSMRSTU (G) 17-18]
a) working b) to w ., , [NU (areoma fersr) 13-14]
Either my sh i 10 Work €) is working  d) work .
265. El Y shoes or your coat — al Ans:C
[ 3 », ways on the floor.
a) 1s b) are B ware = [JnU (B) 17-18]
266. Shakespeare is of the view that “éwe ¢ d) have Ans:a
/i) are by is o h : — the uses of adversity”. [CU (D) 17-18)
. C) s f i
STER d) have Ansa
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_—There is no denying fact that the cu e S
:b" e R at ‘h(\ SN -
” are beggar description h;tﬁ:“ﬂ’:‘ l“f th'e l'(ohlngyns —_— [CU (D) 17-18]
f have beggar description d) l)cgf!ar: :i::rri,;:t(im Ans:b
‘ S des on :

8. Two-thirds of the mega city

=

4 have been destroye L CU (D) 17-18]
Bt "““1& stroyed by dynamite b have destroyed by dynamite |
Q-h?shbu“: estroyed by dynamite @) has destroyed by dynamite Ans:c

sc0. Which sentence of the following is incorrect? [RU (F-3-fasir) 17-18)

a) Slow and steady win the race.  b) Slow and steady won the race
< 0

) Sl\.m' ::ttl st;‘?:i‘)" \\:ins the race. @) Slow and steady has won the race. Ans:a
- “ s y
270. The in ‘ ¢ Juvenile home well by their caretakers. {JnU (B) 17-18]
g) were not being treated b) were not treating
¢) have not being treated d) was not being treated Ans:a

»71. Choose the correct sentence, [JnU (C) 14-15]

a) Fame as well as fortune were his goals. b) Fame as well as fortune was his goals.
¢) Fame as well fortune were his goals. @) Fame and fortune were his goals. Ans:d
»72. Which of the following sentence is correct: [JU (H) 16-17]

!) It is you who is to pay b) It is you who has won the prize.

¢) Itis you who is late , d) It is you who are to leave Ans:d

»73. Select the correct sentence. (FRoreaedt ot frante g e fee) [JaU E 15-16]
a) The jury was unanimous (TFAE) in its decision. collective noun 43
b) The jury was unanimous in their decision. AEATAACE TGS JHC
¢) The jury were unanimous in the decision. singular verb T
d) The jury were unanimous in its decision. Ans:a

“swe sreTe SCe Noun SicEd noun of multitude S ¢4 |

274. Majority — present in the meeting. B [COU B 14-15]
a) am b) are c) is d) have Ans:b

P K De Sarkar €% A text book of higher English grammar ST majority 4TS singular
verb 7@ f&€ majority 7Al the greater part/most (sifreret) TR plural verb 71 The majority
is scanty but sufficient The majority are in my favour. The majority of my friends agree.
275. The majority — that he is an honest man. . [BSMRSTU (F) 18-19]
a) believes b) believe ¢) is believing d) are believing Ans:a
" CLIFFS TOEFL SaAICa majority 41 1 singular verb ¢ f® @ majority of e plural noun
4@ plural verb G7H | The majority of the students believe him to be innocent.
LThe majority believes that we ar¢ in no danger.
276. Every leaf and every flower — fallen off the tree. [COU B 17-18]
a) has b) have ¢) is d) was Ans:a

277. Identify the incorrect sentence. [BSMRUST (E) 13-14]
a) The news is true. b) Neither of the two men was very strong.

¢) The United States has a big navy. d) Fifty thousand dollars are a large sum.  Ans:d

278. Much of the machinery on these farms — unusablg. [CU (C) 17-18]
a) is p) are ¢) have d) has ) are being Ans:a
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279. Which one is correct sentence’ football match.
ex lied for the 100 )
a) Each of the students havc‘ é:::lpc 5 2) b |
b) Either of the two boys arc ; v bt
' 9ig

0 pens; neither ar¢ go

sone of them is ferocious.

nds always — round collecting wood for bonfir, ;:\_"Sfd
Al 4 '

[CU ((,3) l6~1‘7] Aght')

€) There are tw

d) 1 have three dogs: 1 "
2 : ther with his irie
- :;:,:::::; . b) have gone  €) was going d) goes ns'd.
Now a good number of courses = the I ntcrll.eto ' [CU D), l‘
a) arc offered in  b) offer on ¢) are offering in d) are offered on ns-zl
The movie, including the previews, — about two hours to watch, [DU (B-ER) IJ.I'd
a) need b) takes ¢) has fixed  d) have required Ansz
The secretary as well as the members — to submit the proposal to the Ministey,
B) need b) needs ¢) have d) are likely [DU (B-EE) 14-15]Ang;
[BSMRSTU (k) 13,

284, Tdentify the correct sentence,
#) Time and tide waits for no man. b) Fire and water does not agree. Ans:

€) The novelist and poet are dead. d) The mayor, with his councillors are to be present
[JU 09-10)

281.
282.

283,

285. Which of the following sentences is not correct?
&) Fire and water does not agree.  b) Every boy and girl was ready.
€) You and I have done our duty. d) The majority is against any compromise. Ans:a

i Ire @3¢ water %6 =@ 7¥ and w41 T T [R4r¥ verb f6 plural 269 w4 do not el ‘]

286. Twenty divided by ten — two. (Reite 7 571 91t ST 72 ) [NSTU (B) 13-14]
a) are b) were ¢) make d) is Ans:d
Ten divided by five 1s/equals two.

287. ldentify the error: Either of the solutions you have proposed are acceptable to the

:;):nmitlce. whose members are willing to compromise. [JU (D) 17-18]
mve b) are ¢) whose d) 11 -
. \ " are willin :b
2BE. At present, the upsetting issue of abusing children - ; Ans
# was made people concern W tiave rsads doore oo . [BSMRSTU (D) 15-16]
, ) . eople concern
- :i:r: ma'de pL(Tplc co?cem d) has made people concern Ans:d
289, 3 arc.urmture, mclud.mg 4 dinning table and sjx chairs, — being sold. U (c4) 15-16]
290. Karim as ) is €) will d) shall . Ansi
290, 3 i as well as his classmates — presentin today’s meetin U 10 l.l]
8 is b) are g [CU 10-
o €) am
29] . Either P 4 d) are to e)r \ Ans:a
3. fxy sister, or the neighbours — looking after the dogs : [TISI?I:III]U (AL) 18-19]
292, Ma;:y a student acbon : €) botha & b d) none . Ans:b
) are H— presentin the class, (Y61 graz o Sifyw wice UR (A) 16-17]
are e . R .
293 1.1 _x_u 8 Mavo € is d) has ) o Ans:¢
ok ; m; w:w should have completed the fagk in time C16 1)
— I who helped you take : y Juc le-
B is I b; l;:lcldkt prepal)aliuns for the examinations last year [[JU C 16-17]
€) am ) .
94. Shormi as well as o _ d) can Ans:a
ell as her sisters — (g buy fashionab)e jewellery [BSMRSTU (D) 16-17]
Ans:b

a) like b) likes €) is liked d) were liked
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W well as the woman — much money (MBSTU (D) !
#°° = have b) has Q will '. m were AllS:b
. ising all alike — praising none. (=2 = zax a'm;T a1 W S e 93 W) [uc 17-18]
v Wwriting letters — Allis hobby. (5 et wre =) ‘ (MBSTU (D) 16-17]
Ij is b) are ©) will i) had Ans:a
27, The chairman and the secretary — present in the meeting. [cou(© 16-17]
oW b) were ¢) had d) had been Ans:b
»08. The captain and team manager — personally met the presidem of the club.
L W have €) was d) were  [JKKNIU (®) 15-16] Ans:a
209, Economics — my favourite subject. [JKKNIU () 16-17]
Bread and jelly (be) her favourite breakfast. [RU 03-04]
a) is b) are ¢) had d) have Ans:a
300. A great deal of thought — into the designing of the auditorium. [KU (SC) 16-17]
a) g0 b) have gone ) went d) has gone Ans:d
which of the following sentences is correct? [JU (E) 17-18]

301. W
3) The board of trustees meets in Denver twice in a year.

b) ‘Lost Cities” describes the discoveries of many ancient civilizations.
¢) Each of my friends attends a different college  d) All the three
302. Choose the correct sentence:
;j Neither Sheila nor her parents is going to the place tomoITOW.
b) Neither her parents nor Sheila are going to the place tomorrow.
¢) Neither Sheila nor her parents are going to the place tomorrow.
ilj Sheila and her parents is going to the place tomorrow.
_ Choose the correct sentence.
a) Every boy and every girl are participating in the programme.
lj) Every boys and every girls are participating in the programme.
¢) Every boy and every girl is participating in the programme.

Ans:d
[JU (C) 16-17]

Ans:c
[JU (C) 16-17]

W
(=]
W

d) Each boy and girl are participating in the programme. Ans:c
304. Choose the correct sentence from the following: [NU (3#fF) 12-13, JU (C) 16-17]

a) It are the students who have decorated the room. RIEAIE 116 AEER

b) It is the students who has decorated the room.

¢) It is the students who have decorated the room.

d) It are the students who has decorated the room. Ans:c
305, Neither the students nor the teacher — about what happens on this trip. [JnU C 10-11]

a) is b) care ¢) was d) cares Ans:d
306. Rain falling on the roof — (= B YT w7 Tq) [RUF 14-15, frst ST SRS FTRasS-23)

a) making noise b) makes a noise €) make a noised) 18 making a noise Ans:b

307. The cost of living in Sylhet — risen dramatically in the last few years. [SUST A 16-17]

The cost of all these articles — risen. (439 ST A CITOIR) [SUST (%) 04-05]

a) have b) would ¢) will d) has €) may Ans:d
308. Verb agrees with - [IU (C) 17-18]

a) noun b) pronoun ¢) adjective d) subject, number and person Ans:d
MASTER 475

CamScanner


https://v3.camscanner.com/user/download

309. Mr. Salim —o————

r. Sali ‘ g
;1) iy lim, accompanied by his daughter Sumi and his only son Dipu,~ Killeg Yest
a) b) were ¢) have been  d) had [BSMRTU G 19, )

310. . .
;Tjolne of the sardines - been caten, (o167 sMeerata corfB? e @)y (COZ])A"S?a
311 . e b) have ¢) has had d) have had 'S4

f

gne of the paramedics — from Chile, (nawsferan e awaa o 2 iy [y (Cz)l:m&a

312, :c)l iy | b) hm./c come  €) comes d) has come ;:61
—— entify the sentence with the appropriate subject- verb agreement.  [jy g, N
A) Many a boy waste their time in idleness. (SA® (2(713 SETSE I 72 F77) :
b) Neither Karim nor Rahim smokes cigarette, (#fa at afzar (@S2 oM =y o)

©) He, as well as his friends, were visiting the museum.,

d) The students along with the teacher were working in the project. Ans:h 4
313. The poor - in rainy days, (*taat 3fq fre omze A1) [KU (Frsm, -m) 10-1
a) starves b) starve ¢) depend d) stays Ans:p

314. One of the boys — absent yesterday. (sre#i7 (zmwa T TYAFS f27) [RU (Tt 09-19)
We found, one of the boys — ill. (St ATFTT GFGE S7F CACATZA) [PUST A 14.15)

a) is b) were ¢) are d) was Ans:q
315. Coffee and tea — nowadays offered as alternative. [CU 02-03]
a) are b) had ¢) have d) will Ans:a
316. Neither of the two candidates who had applied for admission to the Business
Faculty — eligible for scholarship. [HSTU (A) 14-15)
a) was b) were c)is d) are Ans:a

317. The attendance of the students — poor. (F@wia ©=if¥f& 37 FW) [JnU (D, Ad. English) 08-09]
The study of languages — very interesting. (191 f*%1 4@ S™m17%) [NSTU (A) 09-10]

a) are b) were ¢) was d) is Ans:d
318. Which one is correct? [NSTU (C) 15-16]
a) The news are true b) A few has come a) & d) is b) have
¢) The wages of sin is death d) The number of students are seventy Ans:c
319. Identify the sentence with the appropriate subject-verb agreement. [JnU (B) 11-12]
a) Each of them has five minutes to do the job. b) has
b) Karim as well Rahim have visited the zoo. ¢) comes
¢) Many a man come to see the temple every year. d) am
d) Neither you nor I are to blame, Ans:a
320. Y th of the work — finished. (w1afbq q5-vgdied o ze) [RU 07-08]
a) have been b) were ¢) are d) has been Ansd
321. The professor and the student — on that point, [NU (3=f3) 06-07]
a) has agreed b) agrees ¢) agreeing  d) agree Ans:d
322. The scenery of Cox’s Bazaar — charming, (¥saraics toififs el ) [RU 09-10]
a) was b) are ¢) were d) is Ans:d
323. In this film, the normal order of events — reversed, [CU 05-06]
a) have been b) has been ¢) are d) being Ans:b
324. Th‘e news — always bad nowadays, [DU (D) 00-01]
a) 1s b) arc €) was d) were Ans:a
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